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CONTINUOS MONTHLY ASSESSMENT TEST (CMAT)
FOR

TNPSC GROUP I PRELIMINARY CURRENT BATCHES

TOPICS FOR GENERAL STUDIES OBJECTIVE TYPE

Subject Number of
questions

Geography 20
History And Culture Of India 20
Indian Polity 20
History, Culture, Heritage and Socio - 25
Political Movements in Tamil Nadu
Development Administration in 20
TamilNadu
Current Affairs (November Month - 20
2019)
Mental Ability 25
Total number of questions 150 (2 %2 Hrs)

UNIT- IIT: GEOGRAPHY OF INDIA

Location - v 6hTerm (I) — Unit (2) - Land & Oceans
Physical v 6th Term (III) — Unit (1) - Asia & Europe
Features - Unit (2) - Globe
(Atmosphere, v' 7th Term (I) - Unit (2)- Landforms
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Hydrosphere,
Lithosphere)

v' 8th Term (I) —» Unit (3) - Hydrologic cycle
v 9th Unit (1) — Lithosphere - I Endogenetic
Process
- Unit (2) - Lithosphere - II
Exogenetic Process
- Unit (3) - Atmosphere
- Unit (4) - Hydrosphere
- Unit (5) - Biosphere
v 10th Unit (1) — India Location Relief
Drainage
v' 11th Unit (1) >Fundamentals of Geography
- Unit (3) - Lithosphere -
Endogenic Process
- Unit (4) - Lithosphere -
Exogenic Process
- Unit (5) - Hydrosphere
- Unit (6) - Atmosphere
- Unit (7) - Biosphere

UNIT - IV: HISTORY AND CULTURE OF INDIA

Age of
Vijayanagaram
and Bahmani -
South Indian
History

v 7th Term (II) —» Unit (1)- Vijayanagaram
and Bahmani
v 11t Volume (II) — Chapter (11) -later
cholas and pandyas
- Unit 9) - Cultural
Development in South India
- Chapter (12) - Bahmani and
Vijayanagar kingdoms
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UNIT-V: INDIAN POLITY

~N

J

Spirit of | v/ 12th Unit (5) — Federalism in India
Federalism:
Center - State
relations
Election - v 6h Term (IlI) —» Civics - Unit (1) -
]udiciary in Democracy
India - Rule| v 7t Term () — Civics - Unit (2) - Political
of Law Parties
v Oth - Unit (1) — Forms of Government and
Democracy
- Unit (2) - Election, Political
Parties
v" 11th Volume (I) — Unit (2) - State
- Unit (5) - Democracy
v 11t Volume (II) — Unit (10) - Public
Opinion & Party
System
- Unit (11) - Election &
Representation
v' 12th - Unit (4) — Indian Judiciary
- Unit (6) - Administrative
Machinery in India
[ Annexure IT — High Courts in India - (12t book)
Rule of Law v" Rule Of Law - Refer Laxmikanth 5t Edition-
Indian Polity
Page No:7.5
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UNIT- VIII : History, Culture, Heritage and Socio -

Political

Movements in Tamil Nadu

History of Tamil
Society, related
Archaeological

discoveries

Reference: Tamil
Nadu Policy
Notes

v 6th Term (I) — Unit (4) - Ancient Cities of

Tamilagam
v' 6th Term (III) - Unit (1) The Sangam Age
- Unit (4) - South Indian
Kingdoms

v 7th Term (I)
Pandiyas
v/ 9th - Unit (3) — Early Tamil Society & Culture
- Unit (7) - State & Society in
Medieval India
v 11th Volume (I) —»Unit (5) - Evolution &
Society in

— Unit (3) - Later Cholas &

South India

UNIT - IX: Development Administration in Tamil Nadu

Political Parties| v 10t Volume (II) — Unit (10) - Social
and Welfare Transformation in Tamil Nadu (10.3 South
schemes for Indian Liberal Federation (Justice Party))
various sections 11th Polity Volume (II) — Unit (15) - Tamil
of people- Nadu Political Thought

Social Welfare v Website: http:/ / www.tnsocialwelfare.org/ #
Schemes Page: SPECIALISATIONS

Child Welfare
Women Welfare
Nutritious Meal Programme
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http://www.tnsocialwelfare.org/

UNIT - X: MENTAL ABILITY & APTITUDE

Time & Work,

Pipes & Cistern Class Worksheets & Assignment.

LCM & HCF Quantitative Aptitude - R.S. Agarwal

Class Worksheets & Assignment.
Simplification 9th Std Maths Book - Algebra [Algebraic
Identities]
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CONTINUOUS MONTHLY ASSESSMENT TEST IV - 2020
GROUP I PRELIMINARY

1.  Which of the following is false about the evidences to support continental

drift theory?

a. Certain identical rare fossils have been found in only one continent

b. Fossil of a fern tree, about 360-million-year-old, has been found only in
India and Antarctica

c. Geological structure of Appalachian Mountains matches with Morocco
and Algeria in North Africa

d. The corresponding edges of the continents fit together

sl BaTe GCamiumien, SSAUILSBETET  FTABISET GBSHH FnBBIGH6T60

Leireu(meuareuBplied SHeuprengl 6117

a. @8y wrHiwmer Fevo oIflw LUdSUYaIBIST QBT @ &HewilGHe0 LD [HOLD
ST (BLNQHBLILIL (HeiT6erment

b. @t 360  10evelwiel  DLEWI(HE6T  LIPEIDWITET @ GLITET  1oydalest
yemaLiLgeald @bawmalend, SiewiLmigsTalsvid oL GO SewrBLigdaliuL L et

c. o gifissralled OomymsCast 1OBBIDL  SievdTNwmeyL 6T SIILIEOTEFFUl6s
enev  Lalluiuied SienoliLL 6t GLUIT(HbHS MBS

d. s misEpD BT alefblsEHD QEIBTS CULIT(HHHIS 6Bent

2. In case of folds, when one limb of the fold is pushed over the other limb of

the fold, it is called as fold

a. Symmetrical b. Asymmetrical

c. Overturned d. Recumbent

RULSmETH QUTBISSHIMDT, @(F LOQLILTeT Slener, BEMTE gliler slenermuller
Gosd EUTHBHHUNBLILISI o160 SIMPSSLILIBHSBSHI

a. FFS b. FwFfImmBa

C. HMLBIPTEISHI d. snuipSmeHe0

3. Consider the following statements about deltas
I. Eroded and dissected deltas are called abandoned deltas

II.  Yellow river delta is an example of abandoned delta
a. I only true b. IT only true
c. Both are true d. Both are false

QL 6OLTHSH6T OHTLTUTET SnBBISHem6T LIS
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L. oifldasiu’L  oB@Ib  HewghSIULL  GLeOLTHH LBl L
QLEOLTEHH6T 61Tl HIeNLPEBLILIBE 6360

II. UBSHaemisbsiIul L GLeOLTalBaTar 6i(hdHHlbHT (H EhFel ml GILedLT

a.l & b. Il &

C. @yewi & d. Syewio Heuml

4. Which of the following is not an depositional land forms of glaciers?

a. Nunataks b. Esker c. Kames d. Drumlins
LeTeu(hHeuaTaUBmIeT 6181 LeNUILITENBEH6T LIgHlensd HevLILTLILISE6T SI6060?
a. [HIITL &H6IT b. eled&sT €. SHMTD6TD d. wybedeselt

5. Pick out the wrong statements about the following

a. Flat topped volcanic hills submerged under sea water are called guyots

b. Seamounts and guyots are most abundant in North Pacific Ocean

c. Aleutian ridge is a prominent submarine ridge of Atlantic Ocean

d. Local weather affects the horizontal distribution of Ocean temperature

Leiteu(heuatoauBmien HeoupTenend By GFu1s

a. sLevpfled  eppdlw  Gwed  Pleolugliy  emfloemey  HWITL &6 6TeIB
SIMPSBLILBH MBS

b. auL s u&HIlS GUBHEIBLEIE &L EODMEVHT DBBID WM (HEH6T  SIFHHID
©_GiT6ITer

C. OV IQW&T (PpSHOH, DI 6e0Tewigd OLIBHRISLET @@ (WPHaHw BT  1WPpH6
DS

d. o e eaumaflenevulest  @ewLilL  UFaIed, HLeleT  GeuliLplenevenul
UTSHSH MBS

6. Identify the incorrect statement
1. USA is the oldest standing Democracy
2. USA is the First country to allow women to vote in 1893
3. The birth place of democracy is Greece
4. In Switzerland, people have the power to frame laws
5. 15t October as International Day of Democracy
a.

2and 4 b.1,3 and 5 c.2and b5 d.4and 5

gilwuns QuUTHHSTHMS Caie GFuIs

WJ.6T610.6] 6UTGOIGHI LILDEDLOWITE  $Q6UIBMUISG [BITL MEHLD

uj.61er0.6J 1893860 OIS EHHG UTHGTlmD DiellHdH (LPH6EO BILMGHLD
MOBTLSHSHeT LIBLIILLD &liferd

Gl FTeLUMHHL SHHEHHEG FLLHMNSH 2 (HAUTHGD DFHSTID o 6wl
FTauGshg MepTWLS Herbd, DSGLTUT 15

2, 4 b. 1, 3,5 c. 2,5 d.4, 5
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7. Which is not the criteria for recognition as National Parties?

a. It is secures atleast 6% of the valid votes in Loksabha election (or)
assembly elections in 4 states

b. It must win 6 seats in Loksabha from any states

c. It must win 4 seats in Loksabha from any states

d. If it win 2% of seats in Loksabha from atleast 3 different states

Cxpdl sl Faenes HmSHNSEEILGMSBETET DieNe|CoTelled EeL60THSHI 61517

a. Gordgemu GBaTHeled OIeLeVEHI WMHL FULFMU GHoBhdHs 6% BFHTHede0
CFeOILIQUITGLD UTHGHmeT OUBMI(HHH Geauewi(BLD

b. abs LIPSHBHSBID EBeTmauuled 6 B mismer  OQeuapl(hdd
Bouemt(HLd

C. B3 ebhd LIHVSHHHSHID WHEHeMmealuled 4 @ misenen Oeueiy(HdHd
Bouemr(HLd

d. wésememaiuled GHmphaHd 3 OeusiGeum wrBevnmiselelmham 2% @)L Hidemern
CuBPBmeHs Couewt(BLd

8. Match the following

Forms of government Country

A. Theocracy 1. Bhutan

B. Monarchy 2. Former Soviet Union
C. Aristocracy 3. Vatican City

D. Oligarchy 4. North Korea

E. Autocracy 5. USA

6. United Kingdom

A B C D E
a. 5 4 2 3 1
b. 1 3 4 6 2
C. 3 1 6 2 4
d. 2 3 5 4 1
QUTHSHHIB
DIJFTRIG  6)IQ6UMRIGEIT UG
A. @meniowim gl 1. yLmesr
B. wwm g 2. (pevtenmelm Camalwig eeISIWILD
C. o2 _win@uwr & 3. QUTIQHEST [HBJLD
D. dpigw o d 4. euLQamflwm
E. gargdusduid 5. 9I6IféasT
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9.  Who were the British architects, designed the Parliament House in India?
a. Henry Baker and Edwin Robertson
b. Edward Blore and Henry Wyatt
c¢. Howard Robertson and Ethel Charles
d. Edwin Lutyens and Herbert Baker
@hHwmeler  UTITEHLEE  SLQLHMSH  algaumndd  Lflyead slgLd
&HENELEHTHGIT  WIMTT?

Camers OussT BEBID eI aller EITUTL &eot

ol auT® LGenmT oBmid Oamesps ellwim

aBeUTT(h @JTUTLF6T LOBHILD JSHH6D FITTeVerd

. eilalenT euilguieiierd LoBMILD GamiTuim GubaT

on o

10.  Which Rule in the conduct of Election Rules, 1961 validates NOTA (None
of the above)?
a. Rule 49-N b. Rule 49-Oc. Rule 49-P d. Rule 49-Q
CapTgper aldsmen FBLSSHIUDHD 6bHFH alg 1961  CmmlLreney  (Gojesemi
wmpLieLemeL) o MIHLGSHHUWISHI?
a. alg 49N b. alg 49 O c. alg 49P d. elg 49Q

11.  Dr. Muthulakshmi Ammaiyar become the first women legislator of India
in
a. 1924 b. 1926 c. 1928 d. 1930
SLEWIBH  LISLT. (PHSHIOL &G ST  @bhHuireler (LHHed
Ouewt gL LoadIB © MU eTFTeonTiT
a. 1924 b. 1926 c. 1928 d. 1930
12.  Justice party passed the communal G.O on
I. January 26, 1921
II. August 15, 1922
III. September 16, 1921
IV. August 15, 1921

a. I, 111 b. 1, III c. Il only d. IV only
pAHEH & auGlyeurf syFTenenisemen OeueMuill L BT &HeiT
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13.

14.

15.

16.

17.

L. smetaufl 26, 1921

II. SFHevl 15, 1922

I11. glILbuT 16, 1921

IV. symerol 15, 1921

a. II, III b. I, III c. II @b d. IV wi @G

Non-Brahmin Menifesto was released in

a. 1916 b. 1917 c. 1919 d. 1921
Lgmoesryeveom@amT Sifldema Geusful Ll L SLewih
a. 1916 b. 1917 c. 1919 d. 1921

The essential element in a king’s rule is

a. Freedom b. Peace c. Sacrifice d. Justice

aellG  OII&F  B@ID  oFeler  waFTldbG o LUlLHTH
B\ HB616wT(HLD

a. &FHHAHID b. oiming) C. Hwnsld d. pg

Consider the following statements.
I.  Caste system reached its zenith during Sangam Period.
II.  The Sangam Society was divided based on the profession of people.

a. I only correct b. IT only correct

c. Both are correct d. Both are wrong

LNeiTeU(HLD SnBMmIHem6T LIS

L. FTHW MWL FhiS SHTLHH DIHT 2 FFHMSH ST LG
II. FRIBHMV Fepsd 0HTHe0H6 SglienLuled Lfldbalul gmbsel
a.l w @ M b. Il w @ &f

C. ByewiB & d. 8yewiio FHeum

The language commonly used in North India during Mauryan Period

a. Brahmi b. Prakrit c. Sanskrit d. Pali
QermflwiT smeLHSHle0, e @hHwimaled GUTHIITS LWETLGSHH W OLomL 615!7?
a. ymd b. Ugrdmsid C. FLOeWE(HBLID d. umel

Consider the following Statements:
I.  Punch marked coins are earliest coins used in India.
II.  They are mostly made of silver and have symbols punched on them.
III. ~ They have been found at Bodinayakkanur.
Choose the correct one:

a.IOnly  b.III Only c.landIIOnly  d. All of the above
LNeTeU(HLD SnBMmISm6T LIS
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L. OIFF CuUTBlSsILL L BTeoTWmISeT ShaHWmaled LWSILIGHIHW DLILDLISTED

[BITEUOTULIMRISHGIT

II. Slmal  QUEBUTID  OeusTaflwimed  SieTenel,  SlaUBNSeL  FlGTIBIH6IT
QuITPSaLILIL 19 (b 60T

III.  9omen CumypTLISH@ITTEL S6emTL MWL L G

a.l v b. I w Gw c. LI w' @w d. simenshaid

18. The Literature which indicates “Kodumanal”

a. Pathitrupattu b. Pattinappalai

c. Purananuru d. Porunaratrupadai
“Gan@moenrsd” uBBlds GUIUILIUGD eudhaHwd 6157
a. uFHBLBILILSS b. ulgerniuTensv

C. LBbBTerml d. GuUTRIBITHBEBIILIENL

19.  Match the following:

Landform Deities

A. Kurunji 1. Varunan

B. Mullai 2. Kotravai

C. Marutham 3. Murugan

D. Neythal 4. Thirumal

E. Paalai 5. Indiran
A B C D E

a. 3 4 5 1 2

b. 1 4 2 5 3

C. 1 2 3 4 5

d. 3 2 1 4 5

QUTHSHHIB

1) SL_6)61T

A. elehd 1. QU(mHewT6s

B. (wpedemev 2. QaTBBene

C. wmsib 3. (p(HB6T

D. Gruiged 4. FH(HLOTed

E. umemev 5. @balyern
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20.

21.

22.

23.

an o
WR =Wy
N N B o
—= W N U
NN e
U1 U1 W N ™

Mangulam inscription mentions about

a. King Nedunchezhiyan b. King Mudathirumaran

c. King Nediyon d. King Peruvazhuti
LOMTMRIG6EVD H6e0V0eUL (B wiregliumms @ELGaBEH?

a. oaT ObBbHehoFuI6T b. opFe (LGS HITmes
C. oaT GpYGuimer d. osm QumeTHL I

Consider the following statements
I.  Pliny mentioned about pepper trade with India.
II. The current name of Bacare is Korkai.
Choose the correct one:
a. I only b. II only c. Both,II  d. None of the above
LN6TeU(HLD FnBNIGBEN6T  H6)60T
I. AbFHwraied lena QAUTHSHBHLD GopesTeTemILL L HTeH L1617 6ol

GBULBS BT
II. Gusaiear sBCUTMHW OUWIT CBHTHBMS
gilwmer gBempdh SHewiL e
a.l w' e b. II wl @Gw C. @yewi(BL d. gsidevenev

The Number of Poets associated with last Sangam is

a. 41 b. 47 c. 49 d. 40
BHML FRIGHHIL AT OHTLTL DLW HaIEhTHT 6160T60NHMmS 6161616167
a. 41 b. 47 c. 49 d. 40

Identify the correctly matched Pair.

[.  Madurai - Port
II. Kanchi - Educational Centre
III.  Naalangadi - Evening market
a. L, Il only b. IT only c.lonly d. All are correct
gflwne GuIphHSHUleTen Sememienis SHTewH
L. ;o)) - SHIOBLPSHLD
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II. HMehd - ool MDD

II.  mrenmsmg - LOTEN6VEF SHend
a.l, II @b b. I o @G
c.] wl@w d. Bmel SEmTHSID

24.  Match the following using the codes given below:

A. Chera Nadu 1. Dharmapuri

B. Chola Nadu 2. Trichy

C. Pandya Nadu 3. Karur

D. Thondai Nadu 4. Tirunelveli
A B C D

a. 1 4 3 2

b. 3 1 4 2

C. 3 2 4 1

d. 4 2 1 3

QUTHHHIH

A. Gay BB 1. smoyfl

B. Gamp mrlH 2. HmsFd

C. urewngw BB 3. SeHT

D. GzrewenL b 4. FHmomeuBeausd
A B C D

a. 1 4 3 2

b. 3 1 4 2

C. 3 2 4 1

d. 4 2 1 3

25.  Sangam age belongs to

a. Iron age b. Bronze age

c. Neolithic age d. Chalcolithic age
gMhIH HTVD 6IenHd GUBILLNGSBSHI?

a. @®(pIDL| HT6VLD b. Geuemidev &mevLD
C. BB&HMeVID d. Qg smevld

26. If 48 men working 7 hours a day can do a work in 24 days, then in how
many days will 28 men working 8 hours a day can complete the same

work?
a. 36 days b. 24 days c. 12 days d. 48 days
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27.

28.

29.

30.

48 oemisel @h GCouemevenwt BTOeMTeIBISE 7 wenfl Ghrb Geusmev GauiIzk 24
BI6TH6T60 (LPIQLILT eT6dled, 28 Siamigel HGFH Geuemevenwt HTOGTTEIBISE

8 LDewf] Grrd Geuemev OFUIFHI GTHHWET BTETH6MED (LPIQUILIT?

a. 36 (b6t b. 24 B el C. 12 Bl Bei d. 48 B &6l

A is thrice as fast as B. If B can do a piece of work in 24 days, then find the
number of days they will take to complete the work together.

a. 2 days b. 3 days c. 4 days d. 6 days

A  eeuait B eeuaemys  sMped  Galemev  GFUIMFHEd  cpSIBI DL BIE
Gouslomemaut. B sueteuT o@p  Gouemevenws 24  pmeisefled  (pgliLmT  eTeuflen,

Bmaurmb Demenihd DbHH Ceuemevedwl (PIYHB  THHMT [BT6ITH6T  61(HHIHIH
OlmelTeuT 6Te0Idh SHTEMIH.

a.2 B &6l b. 3 B sel C. 4 BT &6l d. 6 B ser

P and Q can do a piece of work in 12 days and 15 days respectively. P
started the work alone and then, after 3 days Q joined him till the work
was completed. How long did the work last?

a. 12 days b. 8 days c. 14 days d. 6 days

P oBpio Q sudBunit e Gauenevenws (pewmenul 12  oBpid 15  [HT6THerie0
wliur. Poieieu oibs Gousmevenwid HalGush Gammslu LpBE, 3 [bHreiseln
aWHa Q el SeumLer  CFhal Geueneoulmenrd (LPIQUILD QUM
SIQUBHL6T BHHSTT 6160160, GouemeLITEIH 618HHM6N [BT6NTH6T BHlodHHH!?

a. 12 [pr el b. 8 B el C. 14 BIL e d. 6 B sel

A camp had provisions for 490 soldiers for 65 days. After 15 days, more
soldiers arrived and the remaining provisions lasted for 35 days. How
many soldiers joined the camp?

a. 700 b. 210 c. 200 d. 500

QM WML 65 [mHIeTHEHHG 490 alfTaerdel  Gurgiomer  wellensl
QuT(HeTHeT EHhHHer. 15 BTeTHEHSHGL LIBG, Geld L aifiTseT WHTHBEG
AbHSHTeL, BHO(HHS eMensll  OUT(hHeTHeTeaIH 35 BIeTHEHdHE LU [HOW
GurgITETHTS B(HHBHH 6laflev, eTHHemen aiJJser (WHmdev GairhgleiementT?

a. 700 b. 210 c. 200 d. 500

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can
do the same in 11 days. 8 men and 6 boys can do 3 times the amount of
this work in

a. 21 days b. 18 days c. 24 days d. 36 days
2 oemisel  wBmpid 7 fApeuTdeT @n  Geuemevenws 14 BT &eled  GFUIS
(PY&PpelT BBID 3 SuewiseT BB 8 FpeuTss 9/6% GCeuemevenws 11
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31.

32.

BT SH6Med OQFUIH (PYSHHFIBEIT 6T6fled 8 w6l LOBWILDL 6 FWIUTH6T, DbHDH
Gouemevemwit Gumed 3 MG GCouenevenu! 61HHemal BT &H6aMe0 GFuIgH (LpIQLILIT?
a. 21 B &el b. 18 B el C. 24 B el d. 36 BT sel

Find out the correct Statements:
I. Karikalan defeated the combined army of cheras, Pandyas and 11
Velir Chieftains at Venni.
II. Pandiyan Nedunchezhiyan defeated the combined army of chera,
chola and 5 Velir Chieftains at Talayalanganam.
a. I only b.IIonly c. Both are correct d. Both are Incorrect
LNeTeu(BD SnBens  SHeue
L. &M smever, Geuewreniulled mLbHSH Gumfled Gayir, GampT wBmId 11 GeuerliT
HMEVeUTHM6T CHTBEBIQSHSHTT
II. uTewtgest  COBBEhOFHIWST,  SHemeLWTeVmIBTaNIGHH 60  HewL Gumm  Gumfled
Ggyir, GampT wmEMID 5 GCeueliT HeWeLAUTHET DI MU Fnl BLI LIHL H6N6IT

CHTBHISHHTT
a.l & b.II &l C. ®yewi(pd &l d. &rewiG Heum
Match the following
Day Event
A. 25 Nov 1. National Press Day
B. 16 Nov 2. Legal Service Day
C.9 Nov 3. World Diabetes Day
D. 11 Nov 4. National Education Day
E. 14 Nov 5. International day for the Elimination of
Violence against women
A B C D E
a 4 5 2 1 3
b 5 1 2 4 3
C 2 3 4 5 1
d 3 1 5 4 2
QuUTHSHHIH
i TRy
A. meubuT 25 1. Cadlw ugglflsms Hleb
B. meubuir 16 2. 5L Gzeweu Zleord
C. meubu 9 3. 2 s BHife Hebd
D. meubui 11 4. Cpdlw seval glerd
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33.

34.

E. meubui 14 5. gTeuBshs OLINIBEHHS 6ISHTTET EUI(LPENBEHEMETT

RUBGWD SHeurld

A B C D E

a 4 5 2 1 3
b 5 1 2 4 3
C 2 3 4 5 1
d 3 1 5 4 2

Which country hosted 25t session of the conference of the parties (COP25)
to the United Nations Frame Work Convention on Climate Change?

a. United Kingdom b. Chile c. Spain d. Argentina
HTEUHIEN6L  LOMBBID  OFHTLTUTS MeHw  BTHHEHHEHTET L F&H6IT  LOMHTL Q60T
256ug (COP25) awl Lewolienul 6l BB BHLSHHUWSI?

a. meadw @rmmedud b, el C. oG 6ET d. oitememngerT
Match the following
Indices India’s Position
A. Global Terrorism Index 1. 78th
B. Nomura’s Food Vulnerability Index 2. 44th
C. World Talent Ranking Report 3.7t
D. Global Bribery risk in South Asia 4. 59t
A B C D
a. 1 3 4 2
b. 2 4 3 1
C. 4 2 1 3
d. 3 2 4 1
QuUTHSHHIH
GNCE @hHwmaler BHlenev
A. o susemmailwl LwmIBIOTSH GHBUi® 1. 78eug)
B. Gmmpgmeler o ewiey urgismiyds GHpluilh 2. 4460ug)
C. 2 svashdmer sraflens Sipfidmas 3. Teugl
D. Gsssrdumaisd o eosenmealul 60ehd ST 4. 5965
A B C D
a. 1 3 4 2
b. 2 4 3 1
C. 4 2 1 3
d. 3 2 4 1
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35.

36.

37.

38.

39.

Which city was recognized under UNESCO creative cities Network
(UCCN) in the field of Gastronomy?

a. Jaipur b. Cochin c. New Delhi d. Hyderabad
sipiFmauLemaiwiedey, wjCerertCast eybauTal Bay eumeowsnwliier (UCCN)
B QmSHNSHSIULT L BBTD 6157

a. Ggguirngr b. Gar&dle C. UsIOoL 6060 d. ewemsyTLTs

How many nanosatellites was launched by PSLV-C47 along with Cartosat-
3?

a. 13 b. 12 c.21 d. 9

asrero@Lram. -3 e Lear PSLV-C47 o600 easbsmer HiGam  OFwimens@smer
gauliLl L g)?

a. 13 b. 12 c.21 d.9

Who were not able to participate in the Election to the President of India?
1. Elected Member of Lok Sabha

2. Elected Members of Legislative Assemblies of all states

3. Nominated members of Rajya Sabha

4. Elected members of Rajya Sabha

5. Nominated members of Lok Sabha

a.3and 5 b.2,3 and 5 c.2and 3 d.3and 4
@,r_r,gﬁm wamFHudHssTear CaHTaHeled wrm LmGsBs (puITg?

Boursgemuuled CaHTHosbBHEILLL o mIferT

SISl LomHlevmiselen FLUL 0AIBHH60 CHTHOBHBHHSILLL o BIIN6TTH6l
@rreowl genuufled BuwbdsiulL o minierrasel

ArreawFmuuled CHTHOSBESLILLL 2 DI TaSe6i

Geursgemuuled HluNdSSIUL L @ mINI 6T TEe6iT

3,5 b. 2, 3, 5 c. 2,3 d. 3, 4

L kW=

The term Pressure Group originated in

a. Russia b. China  c. USA d. United Kingdom
DWHH G 6B auiTHend CHrapsiuigl 6ImiG?
a. geduim b. Femr C. oWl d. médw rsTewIb

Identify the incorrect statement

1. Plato determined the ideal number of population would be 5040

2. Rousseau determined 10,000 to be an ideal number of population for a
state

a. Only 1 b. Only 2 c.Bothland2  d. None of these
gflwrs QuIHHSTHmS CHTey OFUIs

17 | Page PH: 24339436, 42867555, 9840226187




1. fBbs WEHNMOHTME 5040 o DHBGL ey Wenml GLm &Tomel ST

2. wTplevsFHer FphHe WEHHTOHTMSE 10,000 o5 BHEGWL e HGam
SHTLOT 60T ST

a. 1 ' @Gw b. 2 w @Gw c. 1, 2 e d. ermie|dlevensv

40. Andaman & Nicobar Islands comes under the jurisdiction of which high

court?
a. Madras High Court b. Calcutta High Court
c. Kerala High Court d. Hyderabad High Court

DIHSIOTET OBBID HHCHTUTT Hoysell 6lhdh 2 WIT HAHLGIBHH6T DIFH BT 560
SID a6t ?

a. QL gmerd 2 WIsEeTBLD b. ®se0aHHT 2 WITHHIDGIBLD
c. Gayonm 2 WTHHILOSIBLD d. ewamayTuTsh 2 WMBSIeTBLD

41. Which Article of the Indian Constitution Provided for the Establishment of
Supreme Court of India?
a. Article 124 b. Article 125 c. Article 127 d. Article 129
OhHw  opFweemlils  6hEH aIHBH 2 FFHIHIGMBLD DML  LBS

GELIGSBSI?
a. FlLGImm 124 b. slLdamm 125
C. FlLbamml 127 d. slLéamm 129

42.  Consider the following statements

L In Pacific Ocean, the abyssal plains are very vast

II.  Absence of mid oceanic ridges is the main reason for deep sea plains

a. I only true b. IT only true

c. Both are true d. Both are false

LeiTeu(heueaTaulBens  SLu1H

I. ugLlld FL60eD, SIUFeL FOOTHET DIHS Slenaled 2 6iTeng

II. L 60  FoOeueNEelled WHHUI HLEO (PHBH GBeVTSHH QRH  (LPSHSIU
SIDFLOTGLD

a.l o @G &M b. Il w @ &f

C. ®yewi(d g d. Byewiio FHeum

43.  Which of the following is wrong about the nature of Monsoon System?
a. Minimum 180° reversal of wind direction between seasons
b. They affect a large part of the continents and oceans
c. The formation of low and high pressure systems over land and water
and their interchange between seasons
d. None of these
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44.

45.

46.

LmeupenBulledr Heitenioulled LleiTeu(heueTouBBIel SHeUBTeTdl 6157

a. U(heUBTeUmIBEHHEG SemLuled a&mhpear  Homguled Gemphaulgbd  180°
B Oeuerll BHHHe0 GCouewt(BLd

b. 83 LD wBBID S0 QUBDUGHmW LTHEHBSH

C. Heub wwBWID BT BH GHoOBHS LBHBID 2 Wl DWHS DiewlienL
® (HOUTHGHeIH!, LHoumidEhdHenL Guiwimer UfLOTBBLOTELD

d. egiefledeneo

According to Conservational International, which of the following is/are
criteria to qualify as a hotspot?

a. It must contain atleast 1500 species of endemic plants

b. It must have lost atleast 60% of its original habitat

c. Bothaandb

d. None of these

FTeuBsa UTHISTIL ST FBEpItug, LeTelheueTeuBBIel 6%  6U6TenLOW

(BT eroum’ LTe) H&GFH upleusBaTe Sienea|Bsmed?

a. @mEG GHoBbhHH 1500 eumBWITET HToUIHIST SHHEH Geuewi(BLD

b. @80 Gophsa 60% sy GaMmEseT HaigH  UTels  eumpail G
BUbSnEs GaueBid

Cc. a wBp b By

d. egieflebensv

Consider the statements about biodiversity hotspots
L Most of them occur in evergreen forests

II.  They represent just 3.2% of Earth’s land surface
a. I only true b. IT only true

c. Both are true d. Both are false
o uffer ILeTentd EUETENLOUIRIGET GHBISHSH SnBHISM6T 616

L. @& GUHLUTEILD LIGeLD LOTBTSSTHH6MNE0 2 (HeuTHBE
1. et Uilulesr Meoriugiinied Qeumid 3.2% 1o HGWD

a.l o @G &M b. Il w @ &f

C. ®yewi(d g d. Byewiid FHeum

‘Barna’ is a principal tributary of which of the following river?

a. Narmada b. Tapti c. Mahi d. None of these
“ufrer”’ esTeu(Hd 6b%H HAHUTGIT (LPHITENID HienewT H?
a. [BTSHT b. sug c. rand d. @me gaiflevensv
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47. The penetration of Aryan culture of North India into the South was
witnessed during
a. Marathas b. Cholas c. Pallavas d. Pandyas
BT0HFHL el @bHwmaled oflul  seor&Famyd  GFHBle0

oa1 (B (HallUIGI.
a. JTHSITESGI b. Gampiseir
C. LIGOGVGTEGIT d. umesnguiTaBeIT

48.  Match the following (Parts in Porutpal)

A. Ministry - 1.17

B. Defence - 2.10

C. Wealth - 3.2

D. Friendship - 4.1
A B C D

a. 2 3 4 1

b. 2 4 3 1

C. 2 1 3 4

d. 2 1 4 3

CUTHSSBIS (QUTTHLLITED LIGE SH6IT)

A. omwFs 1. 17

B. &yyeuwr 2. 10

C. ab 3.2

D. my 4. 1
A B C D

a. 2 3 4 1

b. 2 4 3 1

C. 2 1 3 4

d. 2 1 4 3

49. The name ‘Self - Respect Movement” was changed to “Self - Respect Social
Justice Party” by
a. Anna b. Singaravelar
c. Periyar d. Rajaji
gwoflwrens Gussld  swoflwummg  Feps B S eer  wrgmed  GuUWT
mBED  Gewiwiiul L g?
a. &|Gu0TemIT b. FmsmyGeusvit
c. Quwmit d. gregred
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50.

51.

52.

53.

The Programme which encourages children to bring one vegetable to
Anganwadi centre is

a. Pratyarpana b. Bal Arokiya

c. Akshaya Pathiram d. Anna Dharma

JCapamid @ STUSHOW  OEISSTY  MLWSHBEG — OHTmily  euy
SWHMBHHMEN 2aHGHalHGD S L LD

a. Uysawmiriviesm b. umev eyGyrdbaluim

C. SIHOYW UTSHHTD d. sieesto

Consider the following statements regarding Nutritious meal program.
I.  Boiled Potato is provided on every Wednesday.
II.  Only double fortified salt is used in Anganwadi centres.
a. I only correct b. II only correct
c. Both are correct d. Both are wrong
FHIHIMYSHIL LD QFHTLTUTeT LoD SnBmISenen SpU1H
L. GoumpemousdHd 2 (HmendHIHIPEIG LSHaISHIpend CHTmID aupmISILIGS DS

II. SIRIBCITAITIQ aMLOWIRIB6IT6D QUGVIGLL L LILIL L o [ 1oL (HGLD
LWSTLGSSUILBS BSI

a.l o @G & b.II w' @G &

C. @yewi & d. 8rewiG Heim

Identify the wrongly matched pair.

I. Chera - Vanavan
II. Chola - Sembiyan
III.  Pandya - Sezhiyan
a.lonly b.llonly c.IlIonly d. None of the above
SHEUBTET Een6nTeNUISH  SHT60ISH
I. Gayfr - GUGIGUGHT
II. Gamypi - OF DL Nuiest
III. umewsTigUIGHT - QFluies
a.l wew b.Il w G c. III o @Gw d. @men gsIle0meD
The general term for a coastal townis __ and for a harbor town is

a. Pattinam, Pakkam b. Puhar, Pattinam

c. Pakkam, Puhar d. Pattinam, Puhar

CQuTHIUTE &L BHEDJ [HSBJLD 61QTGYLD, LOMBMILD HIMHBUPSLID  HSBJLD
TRRD DIMPSSLILIBGH MBS
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a. UL IQeD, UTédhadID b. ysnmit, uLiged
C. UT&&ID, LT d. uligebd, Y

54.  The Primary deity of the Tamils was

a. Maayon b. Seyon c. Indiran d. Varunan
SLOLPTHTT (LpHTenID CFHUIaID
a. m@uimest b. @F@uwimest C. @bdyen d. eumemrest

55.  Find out the correct statements
L. The Shape of Stupa is hollow Sphere.
II. It Symbolizes the Universe.
a.lonly  b.Ilonly c. Both are correct d. Both are wrong
gflwnensd FnBenmd HTewID
L. eogriseler augeald o eTeflBp Camend o@D
I 8a Ujuehsdsms GBlEHBIH
a.l we@d b.II w @b C. @yewi(BLD d. @yewHLoe06v

56. P alone can do %of a work in 6 days and Q alone can do %of the same

work in 4 days. In how many days working together, will they finish %Of

the work?
a. 2 days b. 8 days c. 4 days d. 3 days

P eremueut sefiGuw @  Geusmsoullest % LUGHeduw 6 BreTdemevd, Q eTeTLIGUT
oG  916x Geusmevu e % UGFHedw 4 BreTdaield (WglILf.  GhHeu(hHd

Bemewihdl DbHH Geuemevu et %U@Qfﬂ@)u_l THHEM [BTETIH6NM60 (LPIQLILIT?

a. 2 B &e b. 8 B sei C. 4 B &6l d. 3 mr e

57. A soap factory produces 9600 soaps in 6 days working 15 hours a day. In
how many days will it produce 14400 soaps working 3 hours more a day?

a. 20 days b.7% days c. 40 days d. 30 days

m Gamiysh OTHBsTEmeOWTEIH, BTOTEIMISE 15 wewl Gryb  Geusmev
Qauig 6 mredeaie 9600 Gamlysenend HwmfobSpgl. BTOETEIMISH G
FBFHeurad 3 wewll Gmyd Geuemev OFUIgk 14400 GamiyseT HwThoHs DSBGS
1HHEMET [BTETH6T HLGHLD?

a. 20 BILsel d. 7% mr e C. 40 BT He6iT d. 30 B ser

22 | Page PH: 24339436, 42867555, 9840226187




58.

59.

60.

61.

X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y
undertook the work for T. 4800. With the help of Z, they completed the
work in 3 days. How much is Z’s share?

a. ¥. 600 b. T. 800 c.X. 700 d. ¥. 500

X eeat HalCwW @m Geusmevenws 6 BreTHeTeIDd, Y eteileuT  HelGu
9I8zBsuemevenit 8  BreTdeieud (gl X oBmid Y o A0wnt  @hs
Gauemevenwt 1.48006@ @lish OsmemiLenT. Z eaiLafe o salujl 6, DieuTdHer
OHS Cauenevenul 3 BIT6TH6MED (LPIQSHHEIT 6T6i60, ClFHTenasUT6oT Z@&1  LmIE
616116)|61T6)|?

a. ¥. 600 b. ¥. 800 c. Y. 700 d. . 500

A and B together can do a work in 10 days. They worked together for 4
days and then B leaves off. A finished the remaining works in 18 days. In
how many days, can A alone finish the whole work

a. 15 days b. 20 days c. 24 days d. 30 days

A oppib B gdlu @meumd GFmhal @@  Geauemevenul 10  Brefled (WgHD
Buiid.  SlauTHeT @meurmd GFbal 4 BT e Geuenev GFuighenT. Lleterm B
SIFHmHH alevd alBamrT. Wglujemen Geuemsvenws A 18 BT &H6fled (PIYSHSHTT.
ObS CWrsHsh Caimevenwijd A 1 BID 61HHemer BT &6eMed (LPIgdhsH (Pgub?

a. 15 pr_seit b. 20 B seir C. 24 ®r_sei d. 30 B el

Find the greatest number consisting of 6 digits which is exactly divisible by
24,15,36?

a. 999999 b. 999790 c. 999720 d. 999240
24,15 wBpid 368160 auGLGBL 6 Revds Waluflw eremr?
a. 999999 b. 999790 c. 999720 d. 999240

Match the following using the codes given below:

Books Author
A. Gaha Sattasai 1. Pliny
B. Geography 2. Kautilya
C. Natural history 3. Hala
D. Arthasastra 4. Ptolemy
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62.

63.

64.

A B C D
a 3 4 1 2
b 4 3 1 2
C 1 4 3 2
d. 1 3 4 2
QuTHSHHIH
HIT6L S Ffwi
A. 33T FHHFMUI 1. eflefd
B. yeiluiluwed 2. QB6ITIQEOLIT
C. QuBema auyeuTyl 3. emmeorm
D. oitgs gmevgdyb 4. HTeoLd
A B C D
a. 3 4 1 2
b. 4 3 1 2
C. 1 4 3 2
d. 1 3 4 2

Consider the following statements on “kizhar”
I.  They were the heads of villages.
II. They were heads of Nadu
III. ~ They were the Chief of tribal Communities.
Choose the correct answer:

a.lonly  b.I IIonly c. I, IIT only d. All are correct
‘Bom’ GMNISHDH FBBIGMET BH6re

L. SIGUTHET SHITTLOHISETE HENEVeUTHENTS  E)(HbHSHe0NT

II. BILIQET HENELEUTH6NTES  E)(hbHSH60TT

OI.  uvprhgyuiar Searsdlear HemevauTseTTd  E)(hbSHenrT

a.l wew b.LII w @b c. I, III o (pib d. smarsaind g

Find the odd one out.
a.Velir b. Nigama c. Vanikan d. Chattan

QUTHHSTH e&TENB HEWILMIS
a. Geuerfli b. Mamor C. 666 d. GgLlLes

Maritime trade during Pandyas is highlighted by

a. Wassaff b. Pliny c. Marcopolo d. Bothaand c
UITEmTIQUIT 66T L 606U aUTemlLISHMmS  (LP6sTellem60LILIB &HJHIeUT
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65.

66.

67.

68.

a. eumall b. efle c. rBsrGumBsor  d. a wmmb

As per Uttiramerur inscription, The age group of men to contest in election
is

a. 25-55 b. 30-60 c. 35-70 d. More than 20

o SFHTCeHT  HeLOeULIgeTy,  BaTHevled  CuTlipuiL  oewidefe UG
a. 25-55 b. 30-60 c. 35-70 d. 206G Bed
Identify the first Poetic work in Kannada language.

a. Adipurana b. Kavirajamarga

c. Kiratarjuniya d. Nyaya Bhashya

st GomPuiler (1pHe0 Halend CFHT@GLenL SHewrLni

a. SLFUgTenId b. salyregoniTdasid

C. Sanradeiuib d. Pwmu uTeduib

Choose the correct Statement:
I.  Pattadakal is one of the UNESCO world heritage Site.
II. Ithas 10 temples.
III.  Out of them, 4 were built in Northern Style while 6 in dravida Style.

a.lonly  b.landllonly c IlandIlonly d.All are correct
gflwrenr amBeams CaHTHosHb

L. UL &H60  eleiilgdl W Oerer@sm-aumed  SMISHTSSIULL 2 sl
uTFbUfw $H6e0mIG6Te0 &IBTELD
II. @gle0 10 Caraledsel o siten

. @ge 4 Garalevse euLvLmemiuiend 5g o siten 6 CamalsdssT Hymail
umenfluflevid &L L LILL (HelTengl
a.l w' e b.,II @b c Il w G d Sme SeIbaHid

Manu Bhaker won Gold in International Shooting Sport Federation (ISSF)
at which event?

a. Women’s 10m air pistol b. Women’s 50m air pistol

c. Women’s 10m air Rifle d. Women’s 50m air Rifle

EILGHT 6hdH allewernuml B Lflaled FTeuBshad HIILTSES &HBHL alenemuiml (h
gl Lenolifed (ISSF) sms ussssHms Ceusipri?

a. OQuemiseEhdaTer 105 6T LlerOL 60

b. GuewisEhdHTET 50 1S T LN6rdL 60

C. OQueniseEndbaiet 10 16 T enyLilen

d. Quemias@psarer 50 1S ¢ enyLiel
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69. Which state government to introduce English from class 1 to 8 in
government schools from next year?
a. Karnataka b. Andhra Pradesh
c. Telangana d. Odisha
9bHS B (WPHv P& UeTeidelled 1 (1pHed 8 D eUGLIL  6Uem]
RIFVHMSH DB(PSILUGHH 2 616 LOTHL DTS 6157
a. SBMTL&LD b. aupHrlgGsaid
C. OFHeVIBISTEONT d. queam

70.  Which state government launched new land Policy 2019 to safeguard the
interest of indigenous people?
a. Assam b. Sikkim

c. Himachal Pradesh d. Maharashtra

ULDMBIGLY  LDSHSH6MeT  [HeveiTHemeNll LUTHISTHS LGHwl Bleudbodmerems 201923 6bhs
OBV SIFF DIBI(PSLILBGSHI U|6TerngI?

a. &IENENIMLD b. faa8b

c. ®uwrszeolly@ahaid d. wasryTeadigrid

71.  Who has been appointed as the chief justice of Madras High Court?
a. Justice M. Sathyanarayanan
b. Justice Amreshwar Pratap Sahi
c. Justice Adarsh Sein Anand
d. Justice S. Mani Kumar
QoL gmerd o WHSHIEIBSHHET HMeVenLD HHLISWITES BWLbdbSILL L euT wimT?
a. bHUFH 6. FHWIBTFTUIEHT6H
b. BHuxk oGreveu Nysml Frand
C. b uFiTad el Sebs
d. pHud ererd. oewiGLOTIT

72.  Which is 2019 word of the year by oxford Dictionaries?

a. Climate Action b. Climate denial

c. Climate Emergency d. Flight Shame

S HeCUTTH DiBTTH SN 2019910 SLenigBaTen GFTe0 617
a. SHTVHIEN6V [BL GUIYHND b. smeuplensv oMLY

C. BB DIQIF]IH N6V d. eliomen BrewrD
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73.

74.

75.

76.

Which writ is issued by Higher Court to lower court to quash illegal orders
of judicial (or) quasi-judicial body?

a. Quo-Warranto b. Mandamus

c. Prohibition d. Certiorari

BPHSHIHMB  DIVVFH  HIHSHIHIEMB  FATLLUI semwldear  FlLalCrng

2_SHpIeysmell  JHH CFIL 2 WIFFHSIBSSTO S BIHOIBSIHBES 6l
BAICUTITEmewTMW  SieMbHBEI?

a. 5GIHWmB alese)|He0 b. QFwemISSHID GUTEneNT
C. HMLWBISHID GuITenesor d. GBMlpeBLBIGSSID GuTenemT

Identify the correct statement

1. The Constitution does not specify the strength of the state public
service commission but has left the matter to the discretion of the
Governor

2. The chairman and member can be removed only by the Governor

a. only 1 is correct b. only 2 is correct

c. Both 1 and 2 is correct d. None of these

gllwmer gBepsdh GHiTey OFuUIs

1. odlweuemoliLled LOMHIeY OUTHILILIENTSHSHINB Denenilishdler 2 mililerTaerler
aewienl benseml  GBIULILalledener penimed D Syepbiler  almliLSHIHBE
alll_ (ol Lg)

2. D& HemevalT LB@ID © BINLT6NTSE6eT SLEHBITE0 HobSUILIBEUT

a. 1 w @B & b. 2 w @G &

C. @yewi & d. 8yewiio sHeuml

Which of the following Article empowers the High Court to issue writs?

a. Article 229 b. Article 227 c. Article 226 d. Article 228
Ueteu(pld  6hd FLLSED o WIHIHOAIBHIBEG BHLICUITmENT  aUPHBIGLD
SFEMEDS 55517

a. FlLGImm 229 b. FLdamm 227

C. FlL&Imm 226 d. gL damm 228

How many political parties contested in the first General Election?
a. 26 b. 54 c. 37 d. 63

W0 @b CuTsHsHCHTHIL Gumiiguil L SFfluied &L Fleelen eremrent o

a. 26 b. 54 c. 37 d. 63
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77.

78.

79.

80.

Which amendment act of Indian constitution reduces the voting age from
21 to 18?

a. 36th Constitutional Amendment Act, 1975

b. 44t Constitutional Amendment Act, 1978

c. 21st Constitutional Amendment Act, 1967

d. 61st Constitutional Amendment Act, 1988

Ueteu(pld  6lhd BhHW  Sfweoemoli] FULHHSHHD amhsaldb@GHl  amS
2160(bg1 18 o4& GHMBEHHSHI?

a. 26 b. 54 c. 37 d. 63

Consider the statements about Greater Himalayas

L It receives lesser rainfall as compared to the lesser Himalayas and
Siwaliks

II.  Physical weathering is more effective over Greater Himalayas as
compared to the other ranges

a. I only true b. IT only true

c. Both are true d. Both are false

@wuioemev LBIL FaBBISeneT DUIH

L. ®g Fflw  @wwwemev BB Hureldmas UG Curgh  GmbhSH
LenpLIGLMemeult GLIBIFBSI

II. BB WwmeusEHL el QULIGBLOLTE  Ouflw  Gwiwensouler  aumeilemnso
WD LWIEDIGTENSHTS B(HbEHLD

a.l w @G &M b.II w @ &f

C. @yewi & d. Syewiio Heuml

‘Barents Sea’ is a marginal sea of which of the following ocean?

a. Pacific b. Atlantic c. Artic d. Southern
‘unyent SL6v’ el LIsSieu(pld 6lhbHd HL eVl HM] QTEHBHL 607
a. udlis b. & evrewningdh C. oyTgd d. Om&BL 60

When rain water that has entered the subsoil and moves laterally without
joining water table to the streams is known as

a. Surface flow b. Interflow

c. Base flow d. None of these

LDEMIDHI Tl LD6wTemnlled  [HedhH BT LSHHeT S Leaueneniuiled  GaFImiosd
USSAUTL L LOTS [HB(HLD LDEMLDHT Tl DIMLSHBLILIBHB MBS

a. Gupuriny gULLb b. @@L @ULib

C. Sl L @ULID d. @mea gsIdlebameD
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81.

82.

83.

84.

The rate of rain water infiltration does not depend on which of the

following?

a. Rainfall Intensity b. Soil temperature

c. Vegetative cover d. None of these

LOMLBT 2aBhouedlert alHd LieeumeuareuBnled 6img SThHHH DI6V60?
a. wepuler Halyb b. werenllesr GeuliLimenev

C. HTAU] HEUFLD d. @ma gsIlleemneD

When two adjacent cirques erode towards each other, the previously
rounded landscape is transformed into a narrow rocky, steep-sided ridge
called

a. Tarn lake b. Aretes c. Inselbergs d. Moraines
SbHHBHH BT F1hGHHB6T @TenBOWTEID SIMdb@GHDCUTHI, (P UL L LDT60T
Beoliugly GmId, CFmGHITE LSBMTLG LTMBWTS WrBBLUbGaS
ILILB S B

a. Lt e b. symgerd C. BIFOLTG d. Qurenyeiiaseir

The Annual income limit to avail benefit under Chief Minister’s Girl Child
Protection Scheme is

a. Rs.24,000 b. Rs. 48,000 c. Rs.72,000 d. Rs.78,000
(WHevemo&gMer  GUewT  GLHMSHET  LUTHSTIL FHLHHST S  [HEITenLD
CUDBIISBHTET QUBLTHAT 6UHLOTE  GUFLDL|

a. Rs.24,000 b. Rs. 48,000 c. Rs.72,000 d. Rs.78,000

Consider the following statements
I.  Cradle baby Scheme was launched in 1992.

II. It was first introduced in Dharmapuri district.
III. It aims to eradicate female infanticide.
Choose the correct one
a. I only b. L, I1II only
c. All of the above d. None of the above

LNeiTeU(HLD SnBMmISem6T LIS

L. OBHTL 1960 GHOHMSHH6T HL LD 19929110 peni(h CoHTBmIelsslLL L Gl
II. BHH LD (PpHenpHeded SHTOLf wTal’ L GHFHe0 DS(PalLBGSHSLILLL S
III.  @sear Crréaswrag Guen FHb0sTemnen @ILILSTGLD

gflwrenr smmenms CaHiTs
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85.

86.

87.

88.

89.

a.l @G b. I III w @Bw
C. Bmal MTHHID d. @ma gsIllevemeD

The Chairperson responsible for implementation of Beti Bachao Beti
Padhao Scheme is

a. District Collector b. Deputy Collector

c. Chief Secretary of the State d. Social Welfare Officer

Guly udsmen Gully usmel FHLLHMHSH OCFLOUGSHHMSBEG OLITBILIL|EHL UIGUT
a. wrell’ L &y i b. siememt gy ui

C. LOTH6Y HEMeVEMIDF OQF U6V d. Faps HeL SleVIeUET

The least number that is divisible by all the numbers from 1 to 10 (both
inclusive) is

a. 2025 b. 5220 c. 5025 d. 2520

1 w360 10 euengujelien (6wl 616WISEHLD 2 LLIL) NISHSD 6T60ISH6NTEILD
AUGUBLD WsFFSIW  eT6m0r

a. 2025 b. 5220 c. 5025 d. 2520

The sum of two numbers is 2000 and their LCM is 21879. Find the numbers

a. 1993, 7 b. 1991, 9 c. 1989, 11 d. 1987, 13

@O eemidafer  gnlpHeo 2000 Seupplesr  B0.0umw 21879  elelled  SibS
6160IHENETTS TN 5.

a. 1993, 7 b. 1991, 9 c. 1989, 11 d. 1987, 13

L.CM.of x3-27, (x-3)2and x2-9is

a. (x -3)2 (x +3)2 b. (x - 3)2 (x2+ 6x + 9)
c.(x=-3)2(x+3)2(x2+3x+9) d. (x +3)2(x-3)2(x2+3x +9)
15.GUT.LD  &Teu0Ts.

x3 =27, (x - 3)2 wopmib x2 - 9 is

a. (x -3)2 (x +3)2 b. (x - 3)2 (x2+ 6x + 9)
c.(x=-3)2(x+3)2(x2+3x+9) d. (x +3)2(x-3)2(x2+3x +9)
LCM.of 222 7 i
39612
35 140
a. %8 b. 736 C. A d. A
%g%é o FweuBpllen WFFm GUITSHIDL HIE
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90.

91.

92.

93.

94.

95.

a. %8 b. 36 C. 3% d. 14%

The H.C.F. and L.C.M. of two numbers are 50 and 250 respectively. If the
first number is divided by 2, the quotient is 50. The second number is :

a. 50 b. 100 c. 125 d. 250
@rewi® erewideilen 10.0umen wBmID W&o wpempGuw 50 wBmID 250 SHLGSLD.
(LPH6V 6ICITENENT 260 UGHBTEL HeWLSHGID F6)] 50 6160160, ETCWILTEUS 6T6HT:
a. 50 b. 100 c. 125 d. 250

The time limit to stay in TamilNadu government working women hostel is

a.1 Year b. 2 Years c. 3 Years d. No time limit
SOPHETH oFdF Geauemev GFLILD OueH6T alBHUND HRIGEUSBHTEHT  &HT6EL
SIUBTFLD

a. 1 i b. 2 syewiBsei

C. 3 SLwIBH6T d. smev SeUBTFID Be0em6D

How many Marriage assistance Schemes are being implemented by
TamilNadu government?

a.b b. 6 c.7 d.8
HOS SIF dHHMal HHoew 2 Hal SHiLmsenen CHTBmialHdpieneng?
a.b b. 6 c.7 d. 8

A new style of architecture developed during chalukyas Period

a. Vesara b. Indo - Aryan Style c. Nagara d. Vakataka
FTEHSHHWTHeMT  STVHHL  6hdH  UHw  umeniuleomet  SLIgL SHHen6V
o (HeUTSHSUILL L GI?

a. Gauggmr b, @KECsHT — eyflwiesr Lmew C. [T d. eusm_sid

Which of the following inscription shows pallava’s interest in music
a. Kudumianmalai b. Thirumayam
c. Siyamangalam d. Bothaand b

Ueteud  6hd  HeV0eUL (B LevevaUTHeT — @engullsd  Suffeud ST IQUINS
GBLIGSBS?

a. GBLOWTETDEN6V b. #miowibd

C. Fwbmiseold d.a wBm b Byewi@Gio

The Term “Punam” refers to
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96.

97.

a. Shifting Cultivation b. Gold Jewellery

c. Iron Smelting industry d. Trade route between two landform
“uemd” et OFTeL GBIILIBHeuSI

a. WIBHBIF FTGLUIY

b. sRI% HOBH6I

C. @MY 2 (hHG DLEN6L

d. @yewip Beotuyriysg Senluleomer alewialILTNS

Match the following using the codes given below:

Book Language
A. Deepavamsa 1. Telugu
B. Kavirajamarga 2. Kannada
C. Saptavataram 3. Sanskrit

D. Nannaya’s Mahabharatam 4. Pali
A B C D

a. 4 2 3 1
b. 4 3 2 1
C. 3 4 2 1
d. 2 4 3 1
QUTHHHIH
BIT6L Qomi
A. Suaubsid 1. OaImIE
B. salymeonisid 2. BTG LD
C. sligeuspmyibd 3. FLOENV& (HSBLD
D. peitenenmeledt LOSTUTTSHLD 4. umed
A B C D
a. 4 2 3 1
b. 4 3 2 1
C. 3 4 2 1
d. 2 4 3 1

Identify the wrongly matched pair:

a. Amatya - Counsellor

b. Adhikarnadandan - Fine in Superior Court
c. Pandaram - Treasury

d. Mantri - Diplomat
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98.

99.

100.

101.

102.

SHUBTH QUTHHSHUjeTen Denewienuwld BpiTey GFUIs

a. SISHHWIT - 9 GeoTF ST

b. &1F>iTenHhHen - o WMBHIDETBHHET DUFTHID
C. LIGWIL LD - &(H6),6VLD

d. whH - ByrghAi

The Ellora caves were designated as a UNESCO world heritage site in

a. 1981 b. 1983 c. 1985 d. 1987

6T6L@eurT GHOBBHEIT W Qeoterdo@sb el 6ot o 60%b UMy oL H6NLOTSH
SIMISHMHHILLTL  e1{H

a. 1981 b. 1983 c. 1985 d. 1987

The book “Tiruvaymoli” was authored by

a. Andal b. Appar c. Nammalvar d. Ramanujar
SHmeurwiOomplulesr o Afwim wimit?
a. SLEWILTeiT b. & C. [BLDLOTLDGUMIT d. ®ymoreniegT

Find out the correct statements:
I.  About 70 temples are located in Aihole.
II.  The earliest Stone - built temple in Aihole is Lad Khan temple.
III. ~ Pattadakal was a centre for performing royal rituals.

a. I only b. I, Il only c. Il only d. All are correct

LleiTeu(hLD SnBEmISem6n LIS

L. 2CamrGeuailed &iorT 70 Camaledse o eierment

II. 2CamrGeualled  (PHeiT  (WHeoms  sSLLLUULL  sBCsTaled VT ames
Gasmallsd

OI.  ulLm &s60 SIF FLRIGHMENF OCFUINISBHTE MOWILTS B(HhHSHA

a.l wl @G b. I, II wi @b c. II @b d. swersaid

Find the odd one out:

a. Sasana b. Sudesi c. Nanadesi d. Ainurruvar
QUTHHSTH e&lTIENBH HEWILMlH

a. ggem b. &8zd c. praBad d. senimeuT
Who is the most celebrated chola king?

a. Rajendra I b. Rajaraja I

c. Aditya d. Vijayalaya

Gampls Cuyrdlest ysOUBMeUT WITT?

a. (paeomd BymGegihayest b. (pmeord BymegyTegest
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C. QFGHWI d. elsguimeoulesr

103.  Find out the correct statements

I.  Brihadishvarar temple of Thanjavur was known as RajaRajisvaram.
II.  The Sanctum with a vimana is 190 feet hight.

III.  The stone at the top of vimana weighing 80 tons.

a.lonly  b.1lonly c. Il and III only d. All are correct

gflwmer gnBpiseamen LIS

L. Hehameyfled o eiten  LIysdHervaugT GCamailed, @rregrm@eerdeurd 6leTayD

SIBWLILGSBSH

II. smHeuens alrerd 190 o9 o Wb OHTeNIL Gl

II.  elwrensdler o Fduled o 6item HevellerT 66D 80 L 656N

a.l w @Gd b. I w @b c. Il wmpp I & d. smearsaid

104. Who is the head of 13 member expert committee to review the draft of the
National Code for Good Governance in sports, 2017?
a. Pullela Gopichand b. Anju Bobby George

c. Baichung Bhatia d. Justice Mukundakam Sharma
allenenwim_(hoerfled  BeveoTl Hlédmen  CHdw  @puiligesr 2017  suenyeneu LM
Sie] Geuwiw 13 o miniert Gemewi Bl Gpaller SHeneveuT wimT?

a. yevBeveurm Bamighd b. oeha UMl ity

C. MUF&MI LITLIQUIT d. UL (WSHSHHD QToT

105. The Union Government has decided to merge Dadra & Nagar Haveli and
Daman & Diu, this will come down the union territories to
a.”7 b.6 c.8 d.5
STHT oBBID BIST anGaed wBE@ID LTwear & L, SiduaBamB Semen s
LHAHW  OI&F  (PRe| OCFUISHETNH, 6Iale0 BFH  eIhHemeruTeudl  Wleoflules
UyGsaom@b?
a.”7 b. 6 c.8 d.5

106. Match the following

Person Award
A. Anand 1. BRICS - Young Innovator Prize
B. Ravi Prakash 2. 27th Ezhuthachan Puraskaram
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107.

C. Sir David Attenborough 3. 28th Bihari Puraskar Award

D. Manisha Kulshreshta 4. Ttalian Golden Sand Art Award
E. Sudarsan Patnaik 5. Indira Gandhi Prize for Peace,
Disarmament and Development
A B C D E
a 3 2 4 5 1
b 2 1 4 3 5
C. 4 3 1 5 2
d. 2 1 5 3
QUTHHHIH
BLITH6IT all(mal
A. sy 1. BRICS - @emb semiBLigliiment
OII@ES)
B. gal Uysmed 2. 270ud GI(DHSHFFE LIFr0OSTFLD
C. g1 GLall. 9 LeTd 3. 28auml Uasmfl yyerosn™ ell(mal
D. waferd @evadGragLm 4. ®HFHTVIW SHHIS LWL HeM6L &l(HSI
E. assigea ulprus 5. @hHATTHMHS DN,
HHGHMBLIL OBBID eueTFS al(hal
A B C D E
a 3 2 4 5 1
b 2 1 4 3 5
C 4 3 1 5 2
d 2 1 5 3 4
Identify the incorrect match
Conference / Summit Venue
1. International Conference on Yoga - Mysuru, Karnataka
2. 11th BRICS Summit - Brasilia, Brazil
3. Global Bio-India Summit - Hyderabad, Telangana
4. Water Technology and Environment
Control Conference - Israel
5. 8th International Conference on
Agricultural Statistics - Mumbai, Maharashtra
a.land 5 b.3 and 4 c.3and 5 d.2and 4
sHeoupren Bevenienuld CxiTey GFUis
oeTd / o &6 rmprh B GUBB S 1D
1. seuBss Guwnsm wIHTH - GOLOGHT, &SHITBTL&SLD
2. lleugl Ufléerd LomBTH - Ugdeor, L1Grdled
3. 2 eusenmmalw LCWT-haw IHTH - MABSHITUTSH, OHEVIMIST6TT
4. BT OFHTPHEOHI LD OBBID SHBHIFEHLO60 - ®er0@y60

35 | Page PH: 24339436, 42867555, 9840226187




108.

109.

110.

S pUuUTL (G wIbBTlH

5. Geuenmemiento LsiTerllalleurmidse &HleHdH - (LpLD6®LI, LDSHTTTARQTLD
8ougl &TeuBsa LoMHI(H
a.l1, 5 b. 3, 4 c. 3,5 d. 2, 4

What is the theme of International Day for the Elimination of Violence
against women?

a. Orange the world: Generation Equality Stands against Rape

b. Women Force: Stand against cruelty

c. Fight against injustice

d. Women: A Real Power of the world

FTauBshg OIS EHHEG 6THITET AUAT(LPENBEHMET RBGD HedHHen &(HUT(hHeI
616016017

a. 9Pehad 2 eualD: SBUPILILGEG aHITET  HMEV(PMB  FLOHBHIUHHIHITH
BB

QuemTH6eT LML : CEBTHMDDHG IHITE HBLSI

SBHES aITes BHUS

QUERTHET: © 606 2 6EWTENLOUITET  SLBMBED

o

Which Amendment Acts are related to Anti Defection Law?

a. 52nd and 91st b. 21st and 89th

c. Ist and 69th d. 16th and 70th

Lelreu(heuemeuBmIeT  6h® FLLHHHSMB6T SLFFHToued SHOUY FLLSHBHIL 6T
OHTLTemL Wi ?

a. 52eug BE@IDd 9leug) b. 2leugl wBEBID 89615
C. lougl OBIBID 69615 d. 166ug wBE@ID 706ug)
Match the following
High Court Year
A. Allahabad 1. 1960
B. Delhi 2.1884
C. Karnataka 3. 1861
D. Tripura 4.1966
E. Gujarat 5.2012
A B C D E
a. 1 3 4 2 5
b. 3 4 2 5 1
C. 5 3 1 2 4
d. 3 1 4 5 2
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111.

112.

CUTHSHHIH

® WIMHSHILDGIIBLD S1601(H
A. seosTUTS 1. 1960
B. QLsveV 2. 1884
C. siprLsb 3. 1861
D. Sflygm 4. 1966
E. oxrms 5. 2012
A B C D E
a. 1 3 4 2 5
b. 3 4 2 5 1
C. 5 3 1 2 4
d. 3 1 4 5 2

Which of the following element is not applicable to Indian system of Rule
of Law?

a. Absence of Arbitrary Power

b. Equality before the law

c. The primacy of the rights of the individual

d. None of these

OhHw opflear FULHH6 S F GBHH Lleteumnd 61gh uTmbEHTHI?
seaiFmgFwTer (o)) a8apFFHSMID E606OTHI

FLL SIS (LPGT DIMSIQU(HLD &FLOLD

SelpUT 2 flenwseaied (WHeTenLOWITETS

61516LO016LEM6V

oo ow

Which is/are not the Federal Features of Indian Constitution?

1. Distribution of Powers

2. Flexibility of Constitution

3. Integrated Judiciary

4. Rigidity of Constitution

5. Supremacy of Constitution

a.2and 3 b.4 and 5 c.3and 5 d.1and 3

UeiaumelamauBmieln o1&/ eewed @hAwW  SFHwieoenoliler  gal Ll &
SIDFRIBET 56L6V 7

1. oIFsmyliuglie] 2. oydlwevenoliie CpBFIDe] Heienid

3. QBHRIFHMNHS HHSHHIEND 4. oppdlwevemoIles OBaIoTEHSHeTenLo

5. odleowenoliiler GeugldasLd

a.2, 3 b.4,5 c.3,5 d.1,3
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113.

114.

115.

116.

117.

Identify the incorrect match of committee and appointment

a. Venkatachaliah Commission - 2000

b. Ranjith Singh Sarkaria Commission - 1973

c. Punchhi Commission - 2007

d. Rajamannar Commission - 1969

G LBMID HLENTged HeupTd CUTHHHUeTen Bewemienwlsd CHiTe| OQFUIS
a. OeumsL GFedemeOWT Gy — 2000

b. @rehdlsdm sFrsmilur G — 1973

c. yeFdl G — 2007

d. ®yrewenemT Gy - 1969

Mauna Loa in Hawaii is an example of which of the following?

a. Composite Volcano b. Volcanic dome

c. Shield Volcano d. None of these

ammeuruieveren GomenGeomeur LleiTeu(heuaiouBmIeT 615B& IBSHHHHTH?
a. gl (B enflienev b. ®mks efioemev

c. Gaweou®BD erflen6v d. gsudedenev

Dolines are erosional landforms of

a. Underground water b. Wind c. Glacier d. River
GLTeVleiTEH 61T 6TETLIG) SIfitiy  BHleoliugliLm@Lo.
a. Bevdslg BT b. sy ¢ uelwmy d. eum

Traffic lights at three different junctions change simultaneously at morning
8.00 am. The first light changes once in 30 seconds, the second once in 72
seconds, the third once in 45 seconds. After 8.00am which is the next time
they change simultaneously?

a.8.03 am b. 8.06 am c.8.10 am d.8.12 am

paim  GeuaiGouml Fmemev  FHAIBH6TL © 66  FTemev UTHIBTLIL  al6mdh@EHaHe6l
s1emev  8.00 wemsG @61 CHIHaled WIBBLOML FHGIBeT. CLPIID a6 EH S EThLD

wepGw 30 alemesdsE® @b SHIW, 72 aleamedd @b SHID, 45 alalmgshg b
SHID LTBISeBer. HTenev 8.00 weldELLIBE cpeim alendE&GsEhHD eIGILTIHS
@Gy FWwHHe0 WTMID?

a. 8.03 am b. 8.06 am c.8.10 am d. 8.12 am
Two numbers are in the ratio 5 : 7 and their LCM is 315, their product is:
a. 2358 b. 2538 c. 2835 d. 2875

Brewi(h elewiseT D : 7 eewip aldHHHe0 o eener.  Seuppler W.H.o 315
o166, SjeuBMIe  OILI(HEBMHBLIGVEI:
a. 2358 b. 2538 c. 2835 d. 2875
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118.

119.

120.

121.

39 | Page

If the HCF of two numbers (each greater than 13) be 13 and LCM 273, then

the sum of the numbers is:

a. 130 b. 290

c.34

13- ol OQuflw Syewi® eewideier L6.6L.6l

916166 H6T6  Tn[HEH60

a. 130 b. 290
484 .
is equal to:
0.289
a. 1291 b. 1i
17 17
48.4
D& HITEWT: 0.289
a. 1291 b. 1i
17 17

1 =
Ifx-== 4thenx3—? is

X
a. 64 b. 70
1 1
X - —= 4 elelle0 X3-"3=?
X X
a. 64 b. 70

c.34

C. 12E

ch 12E
17

c.72

c.72

Which of the following is wrong?

o0 o

LeTeu(HeuaTaUBBIeT HeUBTeTH 61517

a. SeVRIBLLY FmFHHEH Hewio aIPLIQaIDTHBSI

d. 286

13 1oppid 1B8.8.0 273 elelled

d. 286

d. 76

d. 76

Hailstones are destructive form of solid precipitation

Sleet is the precipitation of opaque and semi opaque ice crystals

Snow is formed when condensation occurs below freezing point

. Falling of uniform minute droplets of water with diameter of less than
0.5 mm is called drizzle

b. oevmisLl 19 P TG @OMUST BHBID D6y @eNLsT Ll  Ligsdd e

aflpLIgeUTGLD

C. 2 ompualdsg &6 BT @hdsD LW bGUTH Ll o (Heurdpg
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122.

123.

124.

125.

d. PULSHBG 0.5 W0.65FD GHopeuter ol Lib GQsrewi Symer BiTdhaieser e
allpFd “HMmed” 61eTm DIEMIPSSLILBH MBS

Port of Rorvik is ice-free throughout the year because of
a. Peruvian / Humboldt current

b. North Atlantic drift

c. Oyashio / Kurile Current

d. California Current
Grritells SHIOBLWBHH0 eWIH  (WpeUSBID LeTallevss E\BHLILSBHTET  SHTT6mID

a. Qumaiwer / embBuredl BT LID
b. e o eomewngs Fmuley

c. eurdBur / MG msGym LD

d. se9@unreflwm BH&ym L Ib

The net primary productivity is very low in which of the following biome?
a. Tropical Savanna b. Temperate Grassland

c. Desert d. Tundra

Bay (e 2 BuUSHSHHmer Llaeumd 6bhdh “@loed o ulflerd@poggled”
W &H&EGHmBeY?

a. geumenm Lje0Gleuer b. WsaniLwemt 60 LeOG6sue

C. LITENGVLAIGILD d. simaniugs

Women Tailoring Training centres exclusively for tribal women is
functioning at

I. Kancheepuram II. Trichy  IIL Salem IV. Hosur
V. Tiruvannamalai

a. I, III only b. 1, III, IV, V only

c. I, V only d. All of the above

LRI @6 GLenisEhdaTer OLemiseT m Hued UUIBd enumiseT SuiIkiGLd
BL_mIH6IT

I. &1ehdyyib II. Hmpsd III. Ggeub IV. @@

V. Smeuewiemrnmiosnev

a. I, III wl @w b. I III, IV, V o’ @Gw
c. I, V i G d. 8mal SIEMRIHHID

The Noon Meal centres have to maintain the buffer stock for next
days.

40 | Page PH: 24339436, 42867555, 9840226187




a. 14 days b. 21 days c. 30 days d. 45 days

HW 2 66| MOWmIGTND DIBHD BT HEHHEG 2 _6wie] GCUTIHL Hen6r
Bl meaudhH(hiHd GeuewiBLd

a. 14 prsei b. 21 mrl e C. 30 BT ae d. 45 pr el

126. Natesanar founded the Dravidian home at
a. Adyar  b. Triplicane c. Thousand light d. Arakkonam
BOLFaITT SHlymalL BevevdHmd 6miG CHTBmIeNSHSHTT
a. SEHLWITT b. HmeueedsGameunf]
c. iy allend@ d. owsGsrewib

127.  M.C.Rajah founded the All India depressed classes Association in

a. 1917 b. 1919 c. 1924 d. 1928
SIAGHHHHW  @bBsIUCLIT  BpeoFsmasHmad M.C. gregr  CaHimpielsHs
RIEIC

a. 1917 b. 1919 c. 1924 d. 1928

128.  Consider the following statement:
I.  Bharathi had printed his weekly journal in red.
II. He spent 10 years in Pondicherry.
a. I only correct b. IT only correct
c. Both are correct d. Both are incorrect
LleiTeu(hLD SnBMmISem6T LIS
L. UTFSHWTT Sieurgl auny GG Flauli HBHHe0 DFHL LT
II. ST LUaFCFMuled 10 S ewI(BEHTEOD GUTLDHSHTT
a.l w @G M b. Il w @ &f
C. @yewi & d. yewi(id Heuml

129. Saivite Saint who converted Arikesari from Jainism to Saivism:

a. Thirugnana Sambandar b. Thirunavukkarasar
c. Sundarar d. Manikavasagar

oIflsCasaflenws  Foewl  FOWSHHIHHSH HFel FOWSHBEG OIBBSIW  mFaull

YeollgT  wimfr?

a. HbHEhTer FIbUbHSHT b. Hmbreysbsyat

C. &b d. wrenlbsaIrgsit
130. The Pandyas were initially and later adopted
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131.

132.

133.

134.

a. Jains, Saivism b. Vaishnavism, Saivism

c. Saivism, Vaishnavism d. Saivism, Jains

UTGmTIQUITE6T  OIFHTL &b & 60 FLOWGHMSULD  Li6oTenrT
FLoWGHMSL Llesumml et

a. FLOGUILD, eNIFGILD b. emeuswieuld, emgeuld

C. MFAID, EHEUGIITAILD d. ewgeud, &Foewild

Identify the Tamil literary texts composed during Pandyas reign.

I. Tiruppavai II. Periyapuranam III. Tiruvasagam

IV. Tirukkovai V. Tirumantiram

a. [ IL III, V b. LI IV, V cLIV,V d. All of the above
UTEWTIQUITEGT  BHTe0HH 0 CHT@GHHSUILLL SO Be0HHUIBIGM6T HewIL1lH

I. Smiiumenel II. Qufwyresrid III. Hmeurssid

IV. $maCarene V. &mwpdrn

a. [ IL III, V b. LI IV, V cLIV,V d. Bmel SimeTHSEID
Arrange the following dynasties in chronological order:

I. Aravidu I. Saluva III. Sangama IV. Tuluva

a. L IIL I, IV b. IIL, IL, IV, I c. IL IIL I, IV d. II, IIL, IV, 1
LeiTeu(hlD eULDEMIGBeM6N  HTeveUTeng LB HHIS

L. opeai® II. smenel III. sh®D IV. siemeu

a. [ IIL 1T, IV b. IIL, 11, IV, 1 c. I, IIL, I, IV d.IL III, IV, 1
Which king ended the sultanate in Madurai and succeeded in establishing
Nayak kingdom.

a. Bukkal b. Kumara Kampana

c. Hari hara d. Krishnadevaraya

6b®H  LDGHIEIEH  Gi0HTaIH6T S Fewwl  FHlewJuled (PYeyHE OaTem G b
BTwsHsT Cuigeng CHTBHBINSSHTT?
a. (IPHUMD L|dHiT b. @y sibLeT

c. amflamyit d. masenr@heurmui

The poem Madura Vijayam was composed by

a. Kumara Kampana b. Abdur Razzaq
c. Gangadevi d. Firdausi
wgTTalnuD B SallwdHamwl CFHTE&HHSHeuT WimT?
a. DT SHIDLIGTT b. oiET geTH
c. aRETCHa d. ..0mesend
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135.

136.

137.

138.

The most common animal depicted on the pillars of vijayanagar
architecture

a. Cow b. Horse  c. Elephant d. None of the above
alwpsfler SLIL SHemeouled o 6iTem HewiHelled 2 6ffen GUTHEUTET &l6VHIE
61&1?

a. u& b. Hewy . wmenen d. @mar ggifevemev

Match the following using the codes below:

A. Sadr-i-jahan 1. Chief justice

B. Kotwal 2. Minister of finance

C. Amir -1i - jumla 3. Chief of police

D. Wasir - I - ashraf 4. Minister of foreign affairs
A B C D

a 1 3 2 4

b 1 2 3 4

C. 2 1 4 3

d. 2 1 3 4

QuUTHHHIH

A. F5T-B)-2amTe 1. mevemld HHLI

B. Gsmieumed 2. HF SimDEFT

C. 9ufir-@-3ibeor 3. HEEVEMID HITAIGVT

D. aundlit-&-sjerogL 4. GeuelluBeydhaienm DIHLOFFT
A B C D

a. 1 3 2 4

b. 1 2 3 4

C. 2 1 4 3

d. 2 1 3 4

Mahmud Gawan’s Madrasa is in

a. Bijapur b. Ahmednagar c. Berar d. Bidar

(PHIDIDG| HTeUTEN6HT LOSHTTFT o leNg)

a. el b. oIBHIHHT c. Sy d. S

Match the following using the codes given below:
A. Devagiri 1. Karnataka
B. Dvarasamudra 2. Telengana
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139.

140.

141.

C. Warangal 3. Maharashtra

A B C

a. 1 2 3

b. 3 1 2

C. 1 3 2

d. 3 2 1

CUTHSHHIH

A. Bxpeudf 1. STBTLHID

B. senysups o 2. OHEVIBIHTEILD

C. aumymisen 3. LDBMITAJIQYLD
A B C

a. 1 2 3

b. 3 1 2

C. 1 3 2

d. 3 2 1

Harihara was coronated in

a. 1336 b. 1346 c. 1356 d. None of the above
anflamyT o' & SiWwsHs w6
a. 1336 b. 1346 c. 1356 d. argleyisvenev

Find out the incorrect statements:
I.  Mohammed Gawan was a Persian by birth.
II. He was known for his administrative techniques.
II.  He divided the 4 provinces of Bahmani into 6.
a.lonly b.Ilonly c. Il only d. All of the above
SHEUBTET SnBDISM6T el Mo
L. (PBLDIDG HeUTe, UTTESHSH0 LIBbHSTT

II. ST HITOUTS HIL LIBISEHHSTE IS LT
I  seuT vaBoreiulsd o 6ten 4 TaTewIMIGmeT 6 Sl LIMSHSHTT
a.l wl @G b. I ol @Gb c. III o @B d. smersaid

How much Financial assistance was provided by Asian Development Bank
for Chennai - Kanyakumari Industrial Corridor Power links?

a. $750 mn b. $451 mn c. $531 mn d. $251 mn
Ogaiemer — seielwWTGT QHTHOHIMMB HOLULTMNS el SenewniliLibh@ SLdlul
SUal(hHH eumd elelauena] HFH 2 Hal eUpmISUIS?

a. $750 mn b. $451 mn c. $531 mn d. $251 mn
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142.  Which state government has launched campaign against filaria?
a. West Bengal b. Kerala
c. Madhya Pradesh d. Uttar Pradesh
amLGeoflwmeysd@ erglgme LITFsmyHemsd GSHTLMmISIW OTHeoD 61g!?
a. GuoBE eumIETED b. Gaiyerm
c. wHHw LGsad d. o 58 r8sgid

143.  Which state of India set to host world Kabaddi 2019?

a. Haryana b. Punjab c. Maharashtra  d. West Bengal
® & &l 2019 6hd BHHW LTHeoD BLSHHWSHI?
a. emfuwimestt b. uehaLl C. LDHMITORHQTID d. Gumg eumisD

144. The Union Ministry of Environment, Forest and climate change launched
mass cleanliness-cum-awareness drive in 50 identified beaches, under
which programme?

a. Swachh Sagar Abhiyan

b. Swachh Bharat Abhiyan

c. Swachh - Nirmal Tat Abhiyan

d. Swachh Samudra Sagar Abhiyan

SIMLWTND STIILUL L. 50 &LBEHmIHeiled HHUI FBBIFGHLO60, 66T LOBBID
HTEVHIEN6V LOTMBM DIWFFHLD, OeuGmen Sruieno — alPiliemlTe] BuibHHmD
abs SLSHe S S WeILGSSUIS?

a. eoeudF gmsT ilwimesr b. erbeus uTys  SILIWImest

C. 66UF MDD H& SILNLITEHT d. eeus Fupdym FTET DINWITET

145. Nepal protested over the inclusion of the region of Kalapani in the new
political map of India. India claims the historic region as part of which
state of India?

a. Bihar b. Uttarakhand c. Uttar Pradesh d. Sikkim
@hawmaler W pfwed  eaudULSHHe0  Semluenl UGHeww  Gariiug)
eGPz Gpurend  agliiys  Osflalssg. Gbs  aIeTBEHIL LGSl
Bpgwreier abhs WIHOSSE @b USHWTE SHSWT FaBisBs!?

a. Usni b. o sdrsmewi c. 2 AN NCxaD d. dédb
146. If p=—2 ,Q= Y_ then what is the value of L 22Q >
x+y x+y rP-Q P -Q
a. x+y b.1 c.-1 d. x-y
X y ) 1 20 . . .
P=x+y,Q:x+ya@‘ﬂm P—Q_PZ—QZW OAIIL]  6T65T60r?

a. x+y b.1 c.-1 d. x-y
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147.

148.

149.

150.
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3 11 {25)(11};33_

2" 5 |44 5| 15
a. 11 b. 2 C. 126
3 125
3 11 |25 11| 33
x| x| ==7
2" 5 {44 5} 15
a. 11 b. 2 C. 126
5 3 125
1 1 1 1 1 )
+ + + Foreren, + is equal to
1x3 3x5 5x7 7x9 19x 21
20 10 21
a. — b. — c. —
21 21 40
1 1 1 1 1
+ + + EE— +
1x3 3x5 5x7 7x9 19x 21
a. 20 b. @ C. 2
21 21 40
The square root of —ﬁ+ V2 is
-2

a. J3+2 b. J3-2 c. 2-3
[—ﬁ*ﬁ] &1 B[LIg apevld
342

a. J3+2 b. J3-2 c. 2-3

What is the value of 3+ 4 [4 - {13 -4 (7 + 2) + 6} + 9]?

a. 231 b. 213 c. 123
3+4[4-{13-4(7+2)+6}+9]-a1 waliy wrg?
a. 231 b. 213 c. 123
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d.5101

125

4.5t

125

)6&[ LHIIY THBGSGF &Lowb?

2L
20

d. J2-3

d. J2-3

d. 132

d. 132
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CONTINUOUS MONTHLY ASSESSMENT TEST IV - 2020

GROUP I PRELIMINARY
1 2 3 4 5 6 7 8 9 10
A C B A C C B C D B
11 12 13 14 15 16 17 18 19 20
B A A D B B D A A A
21 22 23 24 25 26 27 28 29 30
A C B C A A D B B A
31 32 33 34 35 36 37 38 39 40
C B C D D A A C D B
41 42 43 44 45 46 47 48 49 50
A C A A D A C A C C
51 52 53 54 55 56 57 58 59 60
B D D B B D B A D C
61 62 63 64 65 66 67 68 69 70
A D A D C B D A B A
71 72 73 74 45 76 77 78 79 80
B C D A C B D A C B
81 82 83 84 85 86 87 88 89 90
D B C B A D C C D C
91 92 93 94 95 96 97 98 99 100
C A A D A A B B C D
101 102 103 104 105 106 107 108 109 110
A B D D C D C A A B
111 112 113 114 115 116 117 118 119 120
C A B C A B C A C D
121 122 123 124 125 126 127 128 129 130
B B D C D B D C A A
131 132 133 134 135 136 137 138 139 140
B B B C B A D B B C
141 142 143 144 145 146 147 148 149 150
B D B C B B A B A C
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CONTINUOUS MONTHLY ASSESSMENT TEST IV - 2020

GROUP I PRELIMINARY
1 2 3 4 5 6 7 8 9 10
A C B A C C B C D B
11 12 13 14 15 16 17 18 19 20
B A A D B B D A A A
21 22 23 24 25 26 27 28 29 30
A C B C A A D B B A
31 32 33 34 35 36 37 38 39 40
C B C D D A A C D B
41 42 43 44 45 46 47 48 49 50
A C A A D A C A C C
51 52 53 54 55 56 57 58 59 60
B D D B B D B A D C
61 62 63 64 65 66 67 68 69 70
A D A D C B D A B A
71 72 73 74 45 76 77 78 79 80
B C D A C B D A C B
81 82 83 84 85 86 87 88 89 90
D B C B A D C C D C
91 92 93 94 95 96 97 98 99 100
C A A D A A B B C D
101 102 103 104 105 106 107 108 109 110
A B D D C D C A A B
111 112 113 114 115 116 117 118 119 120
C A B C A B C A C D
121 122 123 124 125 126 127 128 129 130
B B D C D B D C A A
131 132 133 134 135 136 137 138 139 140
B B B C B A D B B C
141 142 143 144 145 146 147 148 149 150
B D B C B B A B A C
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